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[PHYSICS] u
1. A " Additional kinetic energy = TE, — TE;
2 ‘ Ap—ﬁ' . _ _GMm ( GMm)_1._ (1 1)
here W €Xcess pressure R inside 2R, L 2R, J 2 LR! RQJ
the soap bubble. AsR; >R, >R_soP_.>P, >P,.
Therefore the air will flow from A and C towards B 12. option (c¢) and (d) are incorrect because

3 o option (c) is true only for spherically symm.
. = + G
n( ) bodies option (d) radius of gyration is irrelevant

4 C with C.G.

MI of disc about diametric axis will be

— 13.  According to question and by using COME
6. 2T GMm 1

P= +Em(fv)2=0+0

r R+R

2x4.65x107" GM 2GM
='—_§—=155Pﬂ =>fv=,— butv=4——
6x10 R R
AP 2GM |GM 1
7. B=-—" /__ /_ -
AV Therefore f R -\ R ] JE

\Y%
AV AP 14. D
7% —] ?X 100%
15. dv
Here gt = constant = a (say)
8. 2r”
v = E(P—G)q Use v> = u? + 2as where
vl_l:pl_c:| §s=2x2m=80m, u=0, v=380m/s
V2 LP27C 16. B
0.2_[19.5—1.5:‘ 17. A
v, 10.5-1.5 18. A
v, = 0.1 m/s

19. 2

GMm R 1

- 3R —— |+—mV: =
9. C 2R3[ 4J g ¢

10. Liet = Liise = Liemoved
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20 AV, = AV,
3)? 6)’
ol xaee
TC[QJ X T D XV
=v=1m/s
INTEGER
21. 2
22. 2
23. Sphere compresses the spring untill its all K.E.
is converted to P.E. of spring
1 K2) 1
= 2 |1+4—5-| = Zgx2
5 MV [ rz] = 2Kx
24, 4
RPL
Q 8 n{
4
f (
&—( 1) x—% =32
Q g {y
Q
Q= 32
25. k=1
k 3.6x10”
1, = 7=><7“ =3 x 10%°m
y 1.2x10
[CHEMISTRY]
26. (%)
N g
ESpo;Mn™ = 151V
EsMno, = 123V
8 151x5-1.23x2
E§h0I|P./[110: - 3
7.55-2.406
=— =169V
3
27. A
28. D
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29.

30.
31

32.

33.
34.

35.
36.

37.

38.

39.

40.

41.
42.

43.
44,
45,

Given CuSO, =+ aq — CuSO, . 5H,0 (aq)
AH = — 15.9 kcal (1)
CuSO,,.5H,0 + aq — CuSO, . 5H,0 (aq)
AH = +2.8 kcal zul2)
Subtracting equation (2) from equation (1)
CuSO,  + 5H,0 — CuSO, . 5H,0
AH=-159-238
= —18.7 kcal

D
B

Ag* + 2NH; — [Ag(NH,),]* ; k' = ?
B

HA+OH = A +H0:k ="

107

= = 1010
10—14

Intermolecular attraction o a

8,07 +Cr,0F - 807 +Cr”®

+2 +3
FeO . Fe,0,, In FeO, In Fe,O,

H,SO, + Zn — ZnSO, + H,
2NaOH + Zn — Na,ZnO, + H,

gl
2C

C— 10g
111g/mol x1L

B

Option 4™ is of weak base remaining all are salts
of SAWB which have pH less than seven

D
B
D

@)
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46.
47.
48.
49.
50.

51

52

53

INTEGER

NP~ O ©

[MATHEMATICS]

Ans.(4)
|2* -|z| -2 <0

:>(|z|—2)(|z|+l)<0 :|z|<2

Now |z2 +Zsin61 S|z‘2 +|zsinﬂ£‘z‘2 +|z| <44+2=6

Ans. (2)

P | 4 |pA(pA@)—=p|~q]|9A~q| [(PAQ)—=P] —(9A~q)
T{T|{T| T |[F|F F
T|F|F T |T| F F
F|T|F T |F| F F
F|F|F T |T| F F

Given compound statement is always false. So

it is a contradiction.

Ans. (4)
i = 10,4, =10

average m, = 60, m,= 40
o,=40,=06

Standard deviation of combined series

”10'12 +n20'22 " i, (ml —m, )2
(”l +n, )2

10><16+10><36+10><10(60—40)
10+10 (10+10Y’

=J8+18+100 =~/126 =11.2

n +n,

2

54

55

56.

57.

58.
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Ans. (3)

Problem is same as arranging & things out of
|

3!
which 5 identical i.e. 50 which gives total

number of ways of selecting block and
8!
distributing them away 3 children i.e. ;3!.

Ans. (2)

2 cases arise (i) P, & P, are in same pair & one

1
1 p—
oses P 1

(ii) P, & P, are in different pairs & one loses
100 (1 1 1 1 5

S pP=—X| =X—F—=%X— |=—
1mi2 2 2 2) 11

6
-, required probability = TR

Ans. (1)
S=(1-o)1-02)+....+2017 —0)(2017 — 0?)

2017 2017

Q= Z (n-o)n-o?) = Z (n?+n+1)

n=1

_2017.2018.4035 . 2017.2018
6

+2017

S.t _ 2018.4035 +1009+1
2017 6 =

= (odd + even)t =odd X &

= cos( Sn )— cos(oddxn)=-1
2017

Ans. (4)
2017 2017 2017 — 92016 — 4 2
Gy FAHGE oo C e =20 =,

A =21008 — 832201 =8§(33-1)21=-8=25

Ans. (3)

34 terms so mean of 17" and 18 term is
median

X o4y = 148+ (n-1) (-2) =x,. =136, x,,= 134

hence median =135

®)
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59.

60.

61.

62.

63.

Ans. (2)

P ~p a4 p>q qv~p (p>q <(qv~p)
T FT T iy T

T FF F F T

F TT T T T

F TF T i T

Ans. (4)

Total cases = 15C,.2!1=15.14
2x=3y = (3,2),(6,4),9,6),(12,8),(15,10)

Fovourable cases =5

5 1
Probability = 1514 22

Total number of numbers = 1010
(without any restriction)
Total number of numbers = 910

(when we do not use 1)

Ans. (3)

It is always true forn > 5

Ans. (1)
P(A)=0.3
P(AvB)=PAUB)=PA)+PB)-PAPB)
= 0.8=0.3+P(B)-0.3 P(B)

5

P(A—>B)=1-P(AnB)
=1-(P(A) - PA)P®))

=1—(0.3x3}_@
7)7 35

64.

65.

66.

67.

68.
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Ans. (4)
6 x 5!

Ans. (2)

Use : contrapositive of p — q is (~q)—(~p)

Ans. (3)
24: (1009 - 2n)* *C, (-1)"

n=0

(1009)*—4(1007)2+6.(1005)*— 4(1003)*+(1001)*
(1005 + 4)* + (1005 — 4)*

—4[(1005 + 2)* + (1005 — 2)1] + 6(1005)*
=512 -4 x 32 = 384

Ans. (4)
_2x19 19

T10x9 45
favourable : {(3,4),(3,5).......(3,10)

(6,7), (6,8),....(6,10)
(9,10),

(1,4),(2,4)
(1,8),(2,8),(4,8),(5,8),(7,8)}

Ans. (2)

Determinant value of matrix
=1-wc—aw+w2ac=0
=(1-aw)(l-wc)=0

a=—=w' = b and c each have 4 and 4
w

options.

4

. 1
if c=—=w" and a # w*

w

= a have 3 and b have 4 options.

.. Total matrices=4 x4+ 3 x4 =28

“)
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69.

70.

71.

72.

Ans. (3)
Mean of ©, = ((mean of y,) + k
55=/748+k

standard deviation of

..

o, = ((standard deviation of y)

15=¢.12 ..(id)
'=1.25and k=-5
Ans. (4)
np=2
s 25ege el
pa L P=q=gn=
P(x):1-400[lj -4cl[lj I
2 2 16 16 16
INTEGER
12]I
:12!(7 Ck_,”Ck_l
" 12 2
yrE Yt =P )
K=1 K=1
_q9? 22!
11
:12.21.19.17 ...... 32'2_6:>p=6

11!

| [(n—o—l)n—(n—])]n!
T, :(nz +l)m =nln+1-(n-1)|n

~S =nn+l

T, 1010 1ot
S, 1011 110
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73.
2 n
(n(n+1)] _Zm(m+1)=80
o o 2
n’(n+1)> ~n(n+1)(2n+1) nn+1) _ 80
4 12 4
= n=4
74.
"C,,=36,"C,, =84, "C, =126
"C., 8 n-r+2 7
R e S
Wl 28 r—1 3
= 3n+13=10r (1)
°C, 126 n-r+1 3
= - = —
"C,, 84 r 2
=2n+2=5r ...(2)
.n=9r=4
"Cy, =C3=9
75.
|z—3—4i| =4
[ lz| —5] <4
lz] <9

©)



